
Hill Holder Wheel Locks Space Saver Arms



Hill Holder Wheel Locks Space Saver Arms
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
7930364-NLA NLA - Package, Locknut (1/4-20) 25 11
7930367-NLA NLA - Locknut (1/4-28) 25 32
7930357-NLA NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 25 73
1015445-NLA NLA - Bracket, Mounting, Chrome - Right 1 14
1015446-NLA NLA - Bracket, Mounting, Chrome - Left 1 14
40157X004 Spacer, Nylon (1/4 x 7/16 x 1/8") 1 15

60274X012-NLA NLA - Screw, Hex Head (1/4-28 x 3/4") 1 36
1017861-NLA NLA - Link, Chrome 1 17
47376X024 Tip, Rubber Wheel Lock Handle, Black 1 18

1016588-NLA NLA - Handle, Push, Adult, Chrome - Right 1 19 B
1016589-NLA NLA - Handle, Push, Adult, Chrome - Left 1 19 B
1016590-NLA NLA - Handle, Pull, Hemi, Chrome - Right 1 19 C
1016591-NLA NLA - Handle, Pull, Hemi, Chrome - Left 1 19 C

1010398 Washer, Nylon (1/4 x 1/2 x 1/16") 1 310
1007017-NLA NLA - Screw, Hex Head (1/4-20 x 1-1/4") 1 111
1016892-NLA NLA - Hill Holder Assembly - Right 1 112 D
1016893-NLA NLA - Hill Holder Assembly - Left 1 112 D

1034212 Wheel Lock Assembly, Hill Holder, Push to Lock -
Right

1 113 A,B
1034213 Wheel Lock Assembly, Hill Holder, Push to Lock -

Left
1 113 A,B

1034214 Wheel Lock Assembly, Hill Holder, Pull to Lock -
Right

1 113 A,C
1034215 Wheel Lock Assembly, Hill Holder, Pull to Lock -

Left
1 113 A,C

1021403-NLA Nut, Hex Flang (1/4-20) 1 114
1021402 Bolt, Carriage (1/4-20 x 1-1/4") 1 115

A - Hill Hlder Wheel Locks not for use with urethane tires.  
B - Push to Lock  
C - Pull to Lock  
D - Part #1016892 and 1016893 are no longer available as a service part individually. Order item #13 as a replacement.   

Push to Lock Shown  

NOTE:

 


